
Add together

1 	 Complete the sentences.

a) 

	 There are  white bears.

	 There are  brown bears.

	 There are  bears altogether.

b) 

	 There are  horses.

	 There are  sheep.

	 There are  animals altogether.



2 	 Draw counters to show the objects.

Complete the number sentences.

a)	 There are 5 yellow sweets and 2 green sweets.

   

	 How many sweets are there altogether?

	
 +  = 

b)	 There is one blue car and eight red cars.	

   

	 How many cars are there altogether?

	
 +  = 
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c)	 Teddy has three apples and seven pears.	

   

	 �How many pieces of fruit does Teddy 	
have altogether?

	
 +  = 

3 	 a)	 Dexter has 2 sweets.

	 Amir has 6 sweets. 

	 How many sweets do they have altogether?

	
 +  = 

b)	 Ron has 2 dogs and 3 cats.

	 How many pets does he have altogether?

	
 +  = 


